VOL. 133

2013

NO. 2

ON NEAR-PERFECT AND DEFICIENT-PERFECT NUMBERS

ΒY

MIN TANG (Wuhu), XIAO-ZHI REN (Nanjing) and MENG LI (Wuhu)

Abstract. For a positive integer n, let $\sigma(n)$ denote the sum of the positive divisors of n. Let d be a proper divisor of n. We call n a near-perfect number if $\sigma(n) = 2n + d$, and a deficient-perfect number if $\sigma(n) = 2n - d$. We show that there is no odd near-perfect number with three distinct prime divisors and determine all deficient-perfect numbers with at most two distinct prime factors.

1. Introduction. For a positive integer n, let $\omega(n)$ and $\sigma(n)$ denote the number of distinct prime factors of n and the sum of the positive divisors of n, respectively. A positive integer n is called *abundant* if $\sigma(n) > 2n$ and *deficient* if $\sigma(n) < 2n$. In 2012, Pollack and Shevelev [Po] introduced the concept of a near-perfect number. A positive number n is called *near-perfect* if it is the sum of all of its proper divisors except one of them. Pollack and Shevelev presented an upper bound on the count of near-perfect numbers and constructed three types of near-perfect numbers. Recently, Ren and Chen [Re] determined all near-perfect numbers with two distinct prime factors, and one sees from this classification that all such numbers are even. On the other hand, D. Johnson found an explicit example of an odd near-perfect number with four distinct prime factors (see [Sl, A181595]). It is natural to consider whether or not there is an odd near-perfect number with three distinct prime divisors.

Motivated by the concept of a near-perfect number, we also study deficient-perfect numbers, a very special kind of deficient numbers. We call n a *deficient-perfect* number with *deficiency divisor* d if $\sigma(n) = 2n - d$, where d is a proper divisor of n. For related problems, see [Pom], [C80], [Co], [Ha], [T].

In this paper, we obtain the following results:

THEOREM 1.1. There is no odd near-perfect number with three distinct prime divisors.

[221]

THEOREM 1.2. If n is deficient-perfect and $\omega(n) \leq 2$, then

(i) $n = 2^{\alpha}$ with deficiency divisor d = 1;

2010 Mathematics Subject Classification: Primary 11A25.

Key words and phrases: near-perfect number, deficient-perfect number.

(ii) $n = 2^{\alpha}(2^{\alpha+1}+2^s-1)$ with deficiency divisor $d = 2^s$, where $1 \le s \le \alpha$ and $2^{\alpha+1}+2^s-1$ is an odd prime.

2. Lemmas

LEMMA 2.1. If $n = p^{\alpha}$ is a deficient-perfect number with deficiency divisor $d = p^{\beta}$, then $n = 2^{\alpha}$ and d = 1.

Proof. Assume that $\sigma(p^{\alpha}) = 2p^{\alpha} - p^{\beta}$, where $0 \leq \beta < \alpha$. Then $p^{\alpha+1} - 2p^{\alpha} - p^{\beta+1} + p^{\beta} = -1$, which implies that $\beta = 0$. Thus $p^{\alpha+1} - 2p^{\alpha} - p = p(p^{\alpha} - 2p^{\alpha-1} - 1) = -2$,

and we have $p = 2, n = 2^{\alpha}$ and d = 1.

LEMMA 2.2. If $n = 2^{\alpha}q^{\beta}$ is a deficient number with deficiency divisor d, then $n = 2^{\alpha}(2^{\alpha+1}+2^s-1)$ and $d = 2^s$, where $1 \le s \le \alpha$ and $2^{\alpha+1}+2^s-1$ is an odd prime.

Proof. Assume that

(2.1)
$$\sigma(2^{\alpha}q^{\beta}) = (2^{\alpha+1}-1)(1+q+\dots+q^{\beta}) = 2^{\alpha+1}q^{\beta}-2^{s}q^{t},$$

where $s + t < \alpha + \beta$. Then

(2.2)
$$(2^{\alpha+1}-q)(1+q+\dots+q^{\beta-1}) = 1-2^s q^t,$$

thus t = 0. In fact, if $t \ge 1$, then by (2.1) we have $2^{\alpha+1} - 1 \equiv 0 \pmod{q}$, $q < 2^{\alpha+1}$. Hence, the left side of (2.2) is positive and the right side of (2.2) is negative, a contradiction.

Now we consider the following two cases.

CASE 1: $\beta = 1$. Then $\sigma(n) = (2^{\alpha+1}-1)(1+q) = 2^{\alpha+1}q - 2^s$. Thus $s \ge 1$ and $q = 2^{\alpha+1} + 2^s - 1$.

CASE 2: $\beta \ge 2$. If $\beta \equiv 0 \pmod{2}$, then $\sigma(n) \equiv 1 \pmod{2}$, thus by (2.1) we have s = 0. By (2.2) we have $q = 2^{\alpha+1}$, which is impossible.

If $\beta \equiv 1 \pmod{4}$, then

$$1 + q + \dots + q^{\beta} = (1+q)(1+q^2+q^4+\dots+q^{\beta-1})$$

and

$$1 + q^2 + q^4 + \dots + q^{\beta - 1} \equiv \frac{\beta + 1}{2} \not\equiv 0 \pmod{2}.$$

Noting that t = 0, by (2.1) we have

 $(2^{\alpha+1}-1)(1+q)(1+q^2+q^4+\dots+q^{\beta-1}) = 2^s(2^{\alpha+1-s}q^\beta-1).$ Thus $2^s | 1+q, 2^s-1 \le q$. Since $\beta \ge 5$, we have $|(2^{\alpha+1}-q)(1+q+\dots+q^{\beta-1})| > 1+q,$

but $|1 - 2^s| \le q$, which contradicts (2.2). If $\beta = 2 \pmod{4}$, then

If
$$\beta \equiv 3 \pmod{4}$$
, then
 $1 + q + \dots + q^{\beta} = (1 + q^2)(1 + q + q^4 + q^5 + \dots + q^{\beta-3} + q^{\beta-2})$

and $4 \nmid 1+q^2$. It follows from (2.1) that $2^{s-1} \mid 1+q+q^4+q^5+\cdots+q^{\beta-3}+q^{\beta-2}$. Since $\beta \geq 3$, we have

$$\begin{aligned} |(2^{\alpha+1}-q)(1+q+\dots+q^{\beta-1})| \\ > 2(1+q+q^4+q^5+\dots+q^{\beta-3}+q^{\beta-2}) \ge 2^s, \\ |1-2^s| < 2^s \text{ which contradicts } (2,2) - \end{aligned}$$

but $|1 - 2^s| < 2^s$, which contradicts (2.2).

3. Proof of Theorem 1.1. Assume that $n = p_1^{\alpha_1} p_2^{\alpha_2} p_3^{\alpha_3}$ is an odd near-perfect number, then

$$\sigma(n) = 2n + d,$$

where $d \mid n$ and d < n. Since $\sigma(n) \equiv 1 \pmod{2}$, we have $\alpha_i \equiv 0 \pmod{2}$, i = 1, 2, 3.

If $p_1 \geq 5$, then

$$2 = \frac{\sigma(n)}{n} - \frac{d}{n} < \frac{5}{4} \cdot \frac{7}{6} \cdot \frac{11}{10} < 2$$

which is impossible. Thus $p_1 = 3$. If $p_2 \ge 7$, then

$$2 = \frac{\sigma(n)}{n} - \frac{d}{n} < \frac{3}{2} \cdot \frac{7}{6} \cdot \frac{11}{10} < 2,$$

which is also impossible. Thus $p_2 = 5$. If $p_3 \ge 17$, then

$$2 = \frac{\sigma(n)}{n} - \frac{d}{n} < \frac{3}{2} \cdot \frac{5}{4} \cdot \frac{17}{16} < 2,$$

a contradiction. Thus $p_3 \leq 13$. Hence, if n is an odd near-perfect number with three distinct prime divisors, then

$$(3.1) \quad \sigma(n) = \frac{3^{\alpha_1+1}-1}{2} \cdot \frac{5^{\alpha_2+1}-1}{4} \cdot \frac{p_3^{\alpha_3+1}-1}{p_3-1} = 2 \cdot 3^{\alpha_1} 5^{\alpha_2} p_3^{\alpha_3} + 3^{\beta_1} 5^{\beta_2} p_3^{\beta_3},$$

where $\beta_1 + \beta_2 + \beta_3 < \alpha_1 + \alpha_2 + \alpha_3$.

Since α_i 's are even, we have

(3.2)
$$3^{\alpha_1+1} - 1, 7^{\alpha_3+1} - 1, 13^{\alpha_3+1} - 1 \equiv 1, 2 \pmod{5},$$

(3.3)
$$3^{\alpha_1+1} - 1, 5^{\alpha_2+1} - 1 \equiv 2, 4, 5 \pmod{7},$$

(3.4)
$$5^{\alpha_2+1} - 1, 11^{\alpha_3+1} - 1 \equiv 1 \pmod{3}.$$

Let

$$f(\alpha_1, \alpha_2, \alpha_3) = \left(1 - \frac{1}{3^{\alpha_1 + 1}}\right) \left(1 - \frac{1}{5^{\alpha_2 + 1}}\right) \left(1 - \frac{1}{p_3^{\alpha_3 + 1}}\right).$$

Now we consider the following three cases.

CASE 1: $p_3 = 7$. Then by (3.1)–(3.3), we have $\beta_2 = \beta_3 = 0$ and

(3.5)
$$f(\alpha_1, \alpha_2, \alpha_3) = \frac{32}{35} + \frac{2^4 3^{\beta_1 + 1}}{3^{\alpha_1 + 1} 5^{\alpha_2 + 1} 7^{\alpha_3 + 1}}.$$

We have

$$f(\alpha_1, \alpha_2, \alpha_3) \ge \left(1 - \frac{1}{3^3}\right) \left(1 - \frac{1}{5^3}\right) \left(1 - \frac{1}{7^3}\right) = 0.952\dots$$

and

$$\frac{32}{35} + \frac{2^4 3^{\beta_1 + 1}}{3^{\alpha_1 + 1} 5^{\alpha_2 + 1} 7^{\alpha_3 + 1}} \le \frac{32}{35} + \frac{2^4}{5^3 7^3} = 0.914\dots$$

a contradiction.

CASE 2:
$$p_3 = 11$$
. Then by (3.1) and (3.4), we have $\beta_1 = 0$ and

(3.6)
$$f(\alpha_1, \alpha_2, \alpha_3) = \frac{32}{33} + \frac{2^{4}5^{\beta_2+1}11^{\beta_3}}{3^{\alpha_1+1}5^{\alpha_2+1}11^{\alpha_3+1}}$$

If $\alpha_1 = 2$, then $f(\alpha_1, \alpha_2, \alpha_3) < 1 - 1/3^3 < 32/33$, thus (3.6) cannot hold. Hence $\alpha_1 \ge 4$ and

$$f(\alpha_1, \alpha_2, \alpha_3) \ge \left(1 - \frac{1}{3^5}\right) \left(1 - \frac{1}{5^3}\right) \left(1 - \frac{1}{11^3}\right) = 0.987\dots$$

and

$$\frac{32}{33} + \frac{2^4 5^{\beta_2 + 1} 11^{\beta_3}}{3^{\alpha_1 + 1} 5^{\alpha_2 + 1} 11^{\alpha_3 + 1}} \le \frac{32}{33} + \frac{2^4}{3^5 11} = 0.975 \dots$$

a contradiction.

CASE 3: $p_3 = 13$. Then by (3.1) and (3.2), we have $\beta_2 = 0$ and

(3.7)
$$f(\alpha_1, \alpha_2, \alpha_3) = \frac{64}{65} + \frac{2^{5} 3^{\beta_1 + 1} 13^{\beta_3}}{3^{\alpha_1 + 1} 5^{\alpha_2 + 1} 13^{\alpha_3 + 1}}$$

If $\alpha_1 = 2$, then $f(\alpha_1, \alpha_2, \alpha_3) < 1 - 1/3^3 < 64/65$, thus (3.7) cannot hold. Hence $\alpha_1 \ge 4$.

If $\beta_3 = 0$, then

$$f(\alpha_1, \alpha_2, \alpha_3) \ge \left(1 - \frac{1}{3^5}\right) \left(1 - \frac{1}{5^3}\right) \left(1 - \frac{1}{13^3}\right) = 0.987\dots$$

and

$$\frac{64}{65} + \frac{2^{5}3^{\beta_{1}+1}13^{\beta_{3}}}{3^{\alpha_{1}+1}5^{\alpha_{2}+1}13^{\alpha_{3}+1}} \le \frac{64}{65} + \frac{2^{5}}{5^{3}13^{3}} = 0.984\dots,$$

a contradiction.

If $\beta_3 \neq 0$, then noting that $5^{\alpha_2+1} - 1$, $13^{\alpha_3+1} - 1 \not\equiv 0 \pmod{13}$, by (3.1) we have $3^{\alpha_1+1} - 1 \equiv 0 \pmod{13}$, thus $\alpha_1 \equiv 2 \pmod{6}$. Since $\alpha_1 \geq 4$, we have $\alpha_1 \geq 8$. Hence

$$f(\alpha_1, \alpha_2, \alpha_3) \ge \left(1 - \frac{1}{3^9}\right) \left(1 - \frac{1}{5^3}\right) \left(1 - \frac{1}{13^3}\right) = 0.9914\dots$$

Now we consider the following three subcases.

SUBCASE 3.1: $0 \le \beta_1 \le \alpha_1 - 1$. We have $\frac{64}{65} + \frac{2^{5}3^{\beta_1 + 1}13^{\beta_3}}{3^{\alpha_1 + 1}5^{\alpha_2 + 1}13^{\alpha_3 + 1}} \le \frac{64}{65} + \frac{2^5}{3 \cdot 5^3 13} = 0.9911 \dots < f(\alpha_1, \alpha_2, \alpha_3),$ a contradiction.

SUBCASE 3.2:
$$\beta_1 = \alpha_1, 1 \le \beta_3 \le \alpha_3 - 1$$
. We have

$$\frac{64}{65} + \frac{2^{5}3^{\beta_1 + 1}13^{\beta_3}}{3^{\alpha_1 + 1}5^{\alpha_2 + 1}13^{\alpha_3 + 1}} \le \frac{64}{65} + \frac{2^5}{5^3 13^2} = 0.986 \dots < f(\alpha_1, \alpha_2, \alpha_3),$$
contradiction

a contradiction.

SUBCASE 3.3: $\beta_1 = \alpha_1, \beta_3 = \alpha_3$. If $\alpha_2 \ge 4$, then $\frac{64}{65} + \frac{2^{5}3^{\beta_1+1}13^{\beta_3}}{3^{\alpha_1+1}5^{\alpha_2+1}13^{\alpha_3+1}} \le \frac{64}{65} + \frac{2^5}{5^513} = 0.985 \dots < f(\alpha_1, \alpha_2, \alpha_3),$

a contradiction. If $\alpha_2 = 2$, then

$$\frac{64}{65} + \frac{2^{5}3^{\beta_{1}+1}13^{\beta_{3}}}{3^{\alpha_{1}+1}5^{\alpha_{2}+1}13^{\alpha_{3}+1}} = \frac{64}{65} + \frac{2^{5}}{5^{3}13} > 1 > f(\alpha_{1}, \alpha_{2}, \alpha_{3}),$$

a contradiction.

This completes the proof of Theorem 1.1.

4. Proof of Theorem 1.2. By Lemmas 2.1 and 2.2, it is sufficient to show that there is no odd deficient-perfect number with two distinct prime divisors.

Assume that $n = p_1^{\alpha_1} p_2^{\alpha_2}$ is an odd deficient-perfect number. Then

$$\sigma(n) = 2n - d,$$

where $d \mid n$ and d < n. Since $\sigma(n) \equiv 1 \pmod{2}$, we have $\alpha_i \equiv 0 \pmod{2}$, i = 1, 2.

If $p_1 \geq 5$, then

$$2 = \frac{\sigma(n)}{n} + \frac{d}{n} < \frac{5}{4} \cdot \frac{7}{6} + \frac{1}{5} < 2,$$

which is impossible. Thus $p_1 = 3$. If $p_2 \ge 11$, then

$$2 = \frac{\sigma(n)}{n} + \frac{d}{n} < \frac{3}{2} \cdot \frac{11}{10} + \frac{1}{3} < 2,$$

which is also impossible. Thus $p_2 = 5$ or 7. Hence, if n is an odd deficientperfect number with two distinct prime divisors, then $\sigma(3^{\alpha_1}p_2^{\alpha_2}) = 2 \cdot 3^{\alpha_1}p_2^{\alpha_2} - 3^{\beta_1}p_2^{\beta_2}$, where $0 \leq \beta_1 + \beta_2 < \alpha_1 + \alpha_2$ and $p_2 = 5$ or 7. We have $\beta_1 = \alpha_1 - 1$, $\beta_2 = \alpha_2$ or $\beta_1 = \alpha_1$, $\beta_2 = \alpha_2 - 1$. Otherwise,

$$2 = \frac{\sigma(n)}{n} + \frac{1}{3^{\alpha_1 - \beta_1} p_2^{\alpha_2 - \beta_2}} < \frac{3}{2} \cdot \frac{5}{4} + \frac{1}{9} < 2.$$

Now we consider the following two cases.

CASE 1: $\beta_1 = \alpha_1 - 1$, $\beta_2 = \alpha_2$. Then $\sigma(3^{\alpha_1}p_2^{\alpha_2}) = 5 \cdot 3^{\alpha_1-1}p_2^{\alpha_2}$. Noting that $3^{\alpha_1+1} - 1 \equiv 1, 2 \pmod{5}$ and $3^{\alpha_1+1} - 1 \equiv 2, 4, 5 \pmod{7}$, we have $p_2 \nmid \sigma(3^{\alpha_1})$. Moreover, $p_2 \nmid \sigma(p_2^{\alpha_2})$. Thus $p_2 \nmid \sigma(3^{\alpha_1}p_2^{\alpha_2})$, a contradiction.

CASE 2: $\beta_1 = \alpha_1, \beta_2 = \alpha_2 - 1$. Then $\sigma(3^{\alpha_1}p_2^{\alpha_2}) = 2 \cdot 3^{\alpha_1}p_2^{\alpha_2} - 3^{\alpha_1}p_2^{\alpha_2-1}$. If $p_2 = 5$, then $\sigma(3^{\alpha_1}5^{\alpha_2}) = 3^{\alpha_1+2}5^{\alpha_2-1}$. Since $5^{\alpha_2+1} - 1 \equiv 1 \pmod{3}$, we have $3 \nmid \sigma(5^{\alpha_2})$. Moreover, $3 \nmid \sigma(3^{\alpha_1})$. Thus $3 \nmid \sigma(3^{\alpha_1}5^{\alpha_2})$, a contradiction.

If $p_2 = 7$, then $\sigma(3^{\alpha_1}7^{\alpha_2}) = 3^{\alpha_1}7^{\alpha_2-1}13$. Since $3^{\alpha_1+1}-1 \equiv 2, 4, 5 \pmod{7}$, we have $7 \nmid \sigma(3^{\alpha_1})$. Moreover, $7 \nmid \sigma(7^{\alpha_2})$. Thus $7 \nmid \sigma(3^{\alpha_1}7^{\alpha_2})$, a contradiction.

This completes the proof of Theorem 1.2.

Acknowledgements. We would like to thank the referee for his/her helpful comments. We would also like to thank Professor Yong-Gao Chen for carefully reading our manuscript. The first author was supported by Anhui Provincial Natural Science Foundation (grant no. 1208085QA02) and the second author was supported by the National Natural Science Foundation of China (grant no. 11371195).

REFERENCES

- [Pom] A. Anavi, P. Pollack and C. Pomerance, On the congruences of the form $\sigma(n) \equiv a \pmod{n}$, Int. J. Number Theory 9 (2013), 115–124.
- [C80] G. L. Cohen, On odd perfect numbers. II. Multiperfect numbers and quasiperfect numbers, J. Austral. Math. Soc. Ser. A 29 (1980), 369–384.
- [Co] G. L. Cohen, The nonexistence of quasiperfect numbers of certain forms, Fibonacci Quart. 20 (1982), 81–84.
- [Ha] P. Hagis and G. L. Cohen, Some results concerning quasiperfect numbers, J. Austral. Math. Soc. Ser. A 33 (1982), 275–286.
- [Po] P. Pollack and V. Shevelev, On perfect and near-perfect numbers, J. Number Theory 132 (2012), 3037–3046.
- [Re] X. Z. Ren and Y. G. Chen, On near-perfect numbers with two distinct prime factors, Bull. Austral. Math. Soc. 88 (2013), 520–524.
- [SI] N. J. Sloane, The Online Encyclopedia of Integer Sequences, http://oeis.org/.
- [T] M. Tang and M. Li, On the congruence $\sigma(n) \equiv 1 \pmod{n}$, J. Math. Res. Appl. 32 (2012), 673–676.

Min Tang, Meng Li Department of Mathematics Anhui Normal University Wuhu 241003, China E-mail: tmzzz2000@163.com limengde163youx@163.com Xiao-Zhi Ren School of Mathematical Sciences Nanjing Normal University Nanjing 210023, China E-mail: 1215836301@qq.com

Received 25 July 2013; revised 16 September 2013

(5991)